
 

 



 

EXERCISE 5-1 
 
1. True. 

2. False. For a merchandiser, sales less cost of goods sold is called 
gross profit. 

3. True. 

4. True. 

5. False. The operating cycle of a merchandiser differs from that of 
a service company. The operating cycle of a merchandiser is 
ordinarily longer. 

6. False. In a periodic inventory system, no detailed inventory 
records of goods on hand are maintained. 

7. True. 

8. False. A perpetual inventory system provides better control over 
inventories than a periodic system. 

 
 



EXERCISE 5-2 
 
(a) (1) April  5 Inventory ..........................................  23,000 
     Accounts Payable ....................   23,000 
 
 (2) April  6 Inventory ..........................................     900 
     Cash ..........................................      900 
 
 (3) April  7 Equipment ........................................  26,000 
     Accounts Payable ....................   26,000 
 
 (4) April  8 Accounts Payable ............................   3,000 
     Inventory ...................................    3,000 
 
 (5) April 15 Accounts Payable ............................  20,000 
      ($23,000 – $3,000) 
     Inventory 
       [($23,000 – $3,000) X 2%] .....   400 
     Cash ($20,000 – $400) ..............   19,600 

(b) May  4 Accounts Payable .....................................  20,000 
    Cash ...................................................   20,000 



EXERCISE 5-3 
 
Sept.  6 Inventory (90 X $22) .......................................   1,980 
   Cash .........................................................    1,980 
 
  9 Inventory .........................................................      90 
   Cash .........................................................       90 
 
 10 Accounts Payable ..........................................      69 
   Inventory .................................................       69 
 
 12 Accounts Receivable (26 X $31) ....................     806 
   Sales Revenue ........................................      806 
  Cost of Goods Sold (26 X $23) ......................     598 
   Inventory .................................................      598 
 
 14 Sales Returns and Allowances ......................     31 
   Accounts Receivable ..............................      31 
  Inventory .........................................................    23 
   Cost of Goods Sold ................................      23 
 
 20 Accounts Receivable (30 X $32) ....................    960 
   Sales Revenue ........................................     960 
  Cost of Goods Sold (30 X $23) ......................    690 
   Inventory .................................................     690 
 
 

 



EXERCISE 5-9 
 
(a)                      KAILA COMPANY 

Income Statement 
For the Month Ended March 31, 2017 

   
 
Sales revenues 
  Sales revenue .................................................   $380,000 
  Less:  Sales returns and allowances ............  $13,000 
   Sales discounts ......................................      8,000     21,000 
  Net sales .........................................................   359,000 
Cost of goods sold ...........................................................     215,000 
Gross profit  .................................................................  144,000 
Operating expenses 
  Salaries and wages expense .........................  58,000 
  Rent expense ..................................................  30,000 
  Freight-out ......................................................      7,000 
  Insurance expense .........................................      6,000 
   Total operating expenses .......................     101,000 
  Net income ......................................................   $  43,000 
 
(b)Gross profit rate = $144,000 ÷ $359,000 = 40.11%. 
 



PROBLEM 5-1A 

 
 
(a) June  1 Inventory ......................................................    1,600 
    Accounts Payable ................................     1,600 
 
   3 Accounts Receivable ..................................  2,500 
    Sales Revenue......................................   2,500 
 
   Cost of Goods Sold .....................................    1,440 
    Inventory ...............................................     1,440 
 
   6 Accounts Payable ........................................     100 
    Inventory ...............................................      100 
 
   9 Accounts Payable ($1,600 – $100) ..............  1,500 
    Inventory 
      ($1,500 X .02) ....................................   30 
    Cash ......................................................   1,470 
 
  15 Cash .............................................................  2,500 
    Accounts Receivable ...........................   2,500 
 
  17 Accounts Receivable ..................................  1,800 
    Sales Revenue......................................   1,800 
 
   Cost of Goods Sold .....................................    1,080 
    Inventory ...............................................     1,080 
 
  20 Inventory ......................................................    1,800 
    Accounts Payable ................................     1,800 
 
  24 Cash .............................................................  1,764 
   Sales Discounts ($1,800 X .02) ...................     36 
    Accounts Receivable ...........................   1,800 
 
  26 Accounts Payable ........................................    1,800 
    Inventory 
      ($1,800 X .02) ....................................   36 
    Cash ......................................................     1,764 
 



PROBLEM 5-1A (Continued) 
 
 June 28 Accounts Receivable ..................................  1,600 
    Sales Revenue......................................   1,600 
 
   Cost of Goods Sold .....................................    970 
    Inventory ...............................................     970 
 
  30 Sales Returns and Allowances ...................  120 
    Accounts Receivable ...........................     120 
 
   Inventory ......................................................     72 
    Cost of Goods Sold .............................      72 
 
 


